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TASK 6 (10 points). Give English idioms and expressions to the fol-
lowing.
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E& ' &
g& p &
TASK 7 (10 points). Listening comprehension. You will hear two situa-
tions. Each situation will be spoken once. After you hear the

situation, read the sentences in you test paper and put a tick EJ
if each statement is True or False.
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TEST |l

TASK 1 (5 points). Listening Comprehension. You will hear a situation.
The situation will be spoken once. After you hear the situation

read the sentences in your test paper and put a tick 0 if each

statement is True or False.
SITUATION.

Barbara and Bill had a bad name in the community. She was a
tall skinny woman, fierce of temper, loud of tongue, and strohg of arm.
Her voice was often heard in wordy warfare with Bill and sometimes she

even gave him a wallop or two. No one ventured, however, to interfere
between them.

1 The spouses were a respectable couple.
2. A skinny Barbara was a very silent woman.
3. Bill and Barbara were always fighting.
4. Bill didn’t allow people to interfere between them.
5. Barbara was the wife who gave wallops to her
husband.
TASK 2 (20 points). Read the texft Guess and fill in the correct word.

I remember my (1)......... day at school. It was at Menai Bridge
while all my friends had gone to Landegfan school (2)........... my mom
Was (3)..cccreen | didn’t want it and (4)........... all day long. So the
next day | (5)........... to Landegfan and stayed in mom’s class until
(5) P was seven (7)........... old. She used to get very cross
(€3) . me. | don’t think | used (9)........... take advantage of the
(20)........... that was her son. | (11)........... to call her Mrs Jones at
(12)........... and nest or Mom at home. If anyone else did (13)...........
wrong they used to get just a telling off, but (14)........... 1(15) ..
something (16)........... ,well...!

She is very fair though, really. And very kind. Except when she
tells me off (17)........... biting my nails. | used to get (18)........... trou-
ble for not (19)........... my room tidy.

I love my mom. She treats me (20)........... a friend.

TASK 3 (14 points). Give three forms of irregular verbs.
1) Dbear, 2) forbid;
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TASK 4 (16 points). Complete the news report, putting each verb into

the correct form.
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TASK 5 (10 points). Give Ukrainian equivalents to the following words
and word combinations:
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THE INTERNATIONAL MONETARY FUND

In 1944, officials from 45 nations assembled for a histone meet-
ing at Bretton Woods in the Umted States. Even though World War Il
was still going on, international monetary authorities and world political
leaders were planning for the future. They wanted to make provisions
for the economic problems they expected to follow the end of the war.
These efforts resulted in the formation of the International Monetary
Fund, which was officially established on December 27, 1945, with 30
members. The Fund grew rapidly, and 128 countnes had been admitted
to membership by 1976. Tne activities of the Fund are concerned with
the two areas of foreign exchange and international trade. The IMF at-
tempts to encourage monetary cooperation to promote exchange-rates.
In addition, the Fund attempts to prevent competitive exchange rate re-
ductions among its members. It also tries to eliminate or reduce any for-
eign exchange controls that slow down world trade. In order to reach
these objectives, however, very large financial reserves are needed. The
necessary reserves are obtamed in the form of deposits which are re-
quired from each member when joining the Fund. The size of the deposit
is known as the member’s quota. Perhaps the mam function of the IMF
has been to heip members with balance-of-payments problems so as to
prevent a monetary crisis. Despite its successes, the IMF remains aware
of the need for improvement. Its facilities are under continued review in
the light of changing world conditions.



True False
& 9Imx :Q53L: SR4 13Q2435Q9R356 mMRO2W23Q xK:
_& v2P42:23Q5Q902: S4RW bD 35Q9R3: 85Q;242
SR4 5 ;9:QR49T W22Q938 93 Q;2 sJM Db X254: 5¢
a& U;2 59W RS Q;2 W22Q938 Z5: QR W5[2 KP Q;2 I
:R60938 Q;2 2TR3RWIOT PARNG62W: 550Q24 Q;2 ZE
b& U;2 L5Q2 RS RSS9T956 2:Q5N69:;W23Q RS Q
"2T2WN24& D( Ebbé&
D& wX ECc Q;2 xK3L ;5L 5LW9QQ2L ae TRK3Q492
c& U;2 5TQ909QX RS Q942 xK3L 9: :KN\2TQ2L QR
SR42983 2VT;5382 53L 93Q2435Q9R356 Q45L2&
C& U;2 W593 8R56: RS Q;2 Imx 542 2VT;5382 45Q:
9QX 53L P6533938 93Q2435Q9R356 5445382W
T;5382 45Q2:&
e& U;2 W2WN24h: fKRQ5 9: Q;2 3KWN24 RS W2WN
E& U;2 5TQ909QX RS Q;2 Imx 9: 59W2L QR P420:
Q54X T49:9:&
g& X62VING62 PR69TX RS Q;2 Imx £
UUUUUUUUUUUU R3L9Q9R3:&

TASK 2 (12 points). Insert the words given below into the text.
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TEST Il. GRAMMAR

TASK 1 (51 points). Put the nouns in plural form in the following text
where it is possible.

As we sailed up the River Hudson towards the ............... of
New York and Brooklyn, we experienced a sensation which is, | think,
common to all .............. ( who come to the end of their voy-
age. Many people have tried to analyze this emotion, and | have read
many such............... but none have ever really satisfied me.

The e stood out against the skyline like enor-
................ stuck on end. The
........... and ............ were completely dwarfed by them.
As we went up the river, we examined it all with our.............. !

It seemed as if each building brushed the............... !

There were a lotof.............. in the river mouth. They were
bringing.....cc.e.... from all over the world................ of
meat and.............. and mangoes, 0f................. and
........... and many other things. They carried ............ from
China and ... from India as well. They flew the
................ of almost every seafaring nation on the globe.

................ Of i, “#H % SR

and others, came on board. The ............... were
paraded before the port doctor. He was huge fat man. The first

class....... filed before him as solemn as ............. ox. Most of
the third class................ stood waiting their turn as quiet as
............... $ though some were as noisy as a flock of
................ ! They carried their ............... in knotted
..................... #3 and the rest of their................
iN e ! Many seemed to have completely lost their
................ (bearings) in their new and strange
..................... and seemed as  bewildered as
................ $  while their ... #  and ..
stared around like startled............... !

There seemed to be varying............... for the treatment
(o ( by the immigration ................ $ ac-

cording to the class in which they travelled. Those of the third were ex-
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FOOD AND RESTAURANT

TEST |

TASK 1 (10 points). Listening comprehension. Listen to the story "An
Englishman’s Day" and then to the statements. On your answer
sheet against each number put T if the statement is true and F if
it is false.

An Englishman's Day

An Englishman’s day — and who is better to descn'oe it than an
Englishman’s wife? It begins when, ignoring me, he sits down to break-
fast with his morning paper.

As he scans the headlines (or the racing results) there is nothing
he likes better than his favourite breakfast of cornflakes with milk and
sugar (porridge if he lives in the North) followed by fried bacon and
eggs, marmalade on toast, the whole accompanied by tea (with milk of
course) or coffee.

But whether he in fact gets such a meal depends on the state of
my housekeeping budget!

After breakfast, except on Sundays and (in many cases Satur-
days) which are holidays, he sets off to work by tram, tube, bus, car,
motor scooter, motor bike or even on his own two feet.

The time he sits out depends in large degree upon whether he is
what might colloquially be termed a "striver" (one who works himself), a
"driver" (one who sees that others work) or a "thrrver " (one who profits
from others’ work).

If he is a "stnver", he will jostle along with thousands like him on
the 7.20, probably still reading his paper (or somebody else’s) and
studying the successes (or otherwise) of his favourite team.

The "drivers" customarily depart about an hour later while the
"thnvers" travel up to the City in great style about another hour later.

But be he "stnver", "dnver" or "thriver", he will enjoy his tea or
coffee break round about 11. The tea or coffee is usually brought to the
factory bench or office desk.
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U;23( 5Q WIL L5X( 2024XQ;938 :QRP: SR4 6K3T;& mR:Q RS
'W566 :;RP: T6R:2 SR4 53 ;RK4( :5X S4ARW QR ( 53L Q;2 T9QX F
542 Q;4R382L Z9Q; P2RP62 R3 Q;294 Z5X QR T5S2:& X5TQR4X ZR:
250Q 93 Q;294 T53Q223:&

U;2 K:K56 WIL L5X W256 K:K566X TR3:9:Q: RS QZR TRKA4:2
TRK4:2 5TTRWP5392L NX P623QX RS 0282Q5N62:( SR66RZ2L NX
P24;5P: S4K9Q PKLL938 53L TK:Q54L Z9Q; Q25 R4 TRSS22 QR S93

MR:Q 73869:;W23 69[2 Z;5Q Q;2X T566 08RRL P6593 SRRL( 3F
5NRKQ Z9Q;0& U;2X WK:Q N2 5N62 QR 42TR839d2 Z;5Q Q;2X 542
2479:2 Q;2X 542 69[26X QR 42SK:2 9Q& s:K566X Q;2X 69[2 N22S i
4R5:Q N22S 53L IR4[:;942 PKLL938( 53L S492L S9:; 53L T;9PP2L PR

U;2X 542 93 Q;2 W593 3RQ RO24SR3L RS :RKP( 42W54[938 ¢
Q;2W Z9Q;RKQ 6250938 :KSS9T923Q 4RRW SR4 Q;2 WR42 9\
TRK4:2&

U;23 N5T[ QR ZR4[ 58593( Z9Q; 53RQ;24 N425[ 93 Q;2 WILLE
5SQ243RR3( R3T2 58593 SR4 Q25 R4 TRSS22( :RW2Q9W2: Z9Q; 5

U;2 ZR4[938 L5X S939:2: 5Q Q9W2 N2QzZ223 b 53L ¢ Z9
0Q;49024:0 K:K566X S94:Q ;RW2 53L Q;2 0:Q49024:0 65:Q& |3 5¢
W53X 73869:;W23 :22W QR 69[2 QR 93:P2TQ Q;294 854L.23: N2SR¢
3938 W256&

U;9: 8R2: K3L24 O549RK: 35W2: f Q25( ;98; Q25( L93324 R4
L2P23L938 KPR3 9Q: :9d2 53L 56:R Q;2 :RT956 :Q53L938 RS Q;R
S:K566X 5 :50RK4X W25Q TRK4:2 9: SR66RZ2L NX :Q2Z2L S4K9(
Q25&

Y9: 2023938 W256 RO24( Q;2 73869:;W53 W98;Q LR 5 N9Q |
938 53L Q;23 ;502 5 Z56] QR Q;2 06RT560 SR4 5 O0fK9T[ R320& L
W253: Q;2 32542:Q N224 ;RK:2( Z;962 5 OfKOT[ R320 W253: 5
g56TR;R69T( RS TRK4:2|r Q5[938 53XQ;W8 S4RW ;56S 53 ;RK4 QF
QR 9WNOIN2| U;242 9: P623QX RS 69026X( TR3823956 TRWP53>
53L ;2 T53 P65X L54Q:( LRW93R2:( N966954L: R4 L9:TK:: Q;2 Z25
TK4423Q :9QK5Q9R3&

wKQ 9S Q;2 73869:;W53 :Q5X: 5Q ;RW2 ;2 W98;Q 69:Q23 QF
Z5QT; Q26209:9R3( Q56[( 425L R4 PK4:K2 ;9: SSORK490Q2 ;RNNX&

U;23 5Q 53X Q9W2 N2QZ223 g 53L _ ;2 Z966 ;502 ;9: 0398

f 5 L493[ 5TTRWP5392L NX 5 :35T[ f 53L Q;23 RSS QR N2L 425L
WR44RZ&
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& 0k98:QT5P0 9: Q:2 L493[ STTRWP5392L NX 5 :35T[ N2QZ223 ¢
_ P&W&

& 73869:W23 Z;R 6902 93 Q;2 kR4Q; ;502 TR43S65[2: Z9Q; W96[
'K854 SR4 N425[S5:Q&

a& 1RRL P6593 SRRL 9: K3[3RZ3 SR4 WR:Q 73869:;W23&

b& U25( :98: Q25( L93324 R4 :KPP24 542 O549RK: 35W2: SR4 2
W256&

D& JRKP 9:3hQ 024X L2:945N62 93 738653L&

c& U25 R4 TRSS22 N425[ 9: 5SNRKQ  5&W&

C& 0,K9T[ R320 9: 5 P65T2 Z;242 R32 T53 :9Q 53L 4265V&

e& m25Q TRK4:2 Z9Q: P623QX 0282Q5N62:( :Z22Q L9:; 53L Q25 R
542 K:K566X 25Q23 5Q Q;422 RhT6RT[&

E& M P24:R3 T53 ;502 53 56TR;R69T L493[( P65X LRWWR2:( N966!
Q56[ 5Q Q;2 06RT560&

g& X5TQR4X ZR4[24: K:K566X 25Q 93 Q;2 42:Q5K453Q8&
W B S e W B R B

UMJy _ qg PRI3Q:r& 1K2:: Q:2 W253938 S4RW Q;2 2VP6535Q9R3"

& U;2 WOVQK42 93:9L2 5 P92 9: T5662L 8&8&E&ESEEEEEEEEEEE

_& JRW2Q:;938 :722Q( :KT; 5: S4K9Q R4 5 PKLL938 Q;5Q XRK 25
23L RS 5 W256 9: T5662L &&8&8&8&E&EEEEELES

a& M :W566 P92T2 RS T6RQ; R4 P5P24 K:2L QR P4RQ2TQ XRK4 T
XRK 542 25Q938 9: T&E&RR &8 &&ELEELEEEE

b& M W256 W5L2 S4ARW Z;5Q2024 9: 505965N62 R4 TR3Q49INKQ2
9: T566 2R &8&EEEEEEEEEEEEE

D& mIOVQK42 RS 93842L923Q: 9: T5662L &8&8&8E&E&ELELEEE’EE

c& M :RP R4 42:Q5K453Q Z;9T; :266: ;RQ TRR[2L SRRL QR N2
26:27;242 9: T5662L &8&8&8E&EEEELEELEEEE

C& M TRR[24 R4 P54Q RS 5 TRR[24 Q:5Q 9: 69[2 5 NRV Z9Q; 5 LF
TRR[( K:K566X N5[2 93:9L2 RS 9Q& 1Q 9: T5662L &8&&8&EE&E&S

e& W 2538&88&88&8EEEEEEEEES:

E& ( W253:88&8&88&8E8E8EELEEEE

g& M S65Q RN\2TQ Z9Q; 459:2L 2L82: Z:9T; 9: K:2L SR4 T544X¢
53L L493[: 9: T5662L &&&&&E8&ELEEEEEEES
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UMJy a qg PR93Q:r& 7VP6593 93 73869:; Q;2 W253938 RS Q;2
9L9RW:&
r ;256Q; SRRL}
_r \K3[ SRRL}
ar QR 8K6P LRZ3}
br QR LR Z9Q;RKQ}
Dr QR PR69:; RSS&

UMJy b gag PR93Q:r& 1902 Q:2 73869:; 2fK905623Q: QR Q;2 SR66
53L ZR4AL TRWN935Q9R3:&

& p ! & E& - &
& - & g&p - &
\& & & # < &
b& A -& & <&
D& F @ & a& $ &

c& A< > & b& + =&
C& # & D&n . - &
e& # | &

UMJy D gq_g PR93Q:rr& 9TQEQWZERR Q;2 SR66RZ938 Q2VQ 53L

LRZ3& g [2X ZR4L: 2966 N2 T;2T[2L 93 XRK4 TRPX&

1Q%: [3RZ3 Q;4RK8;RKQ Q;2 ZR46L Q;5Q Q;2 L2:Q93X RS 35
R3 ;RZ Q;2X 3RK49:; Q;2W:2602:& k29Q;24 :P9T2: 3R4 2VRQIT
625L QR 5 6R38 69S2 :P53& j36X P54Q9TK654 TRR[938 W2Q;R
82:Q9N62 SRRL: 2L9N62 53L 9WP4R0O2 ;KW53 ;256Q;& I3 :RW2 T
5NK3L53T2 RS 0282Q5N62: 53L S4K9Q: 9Qh: fK9Q2 PR::9N62 QF
953 1L.92Q( Q;5Q 9: TR3:9L242L QR N2 45Q;24 ;256Q;X&

~2RP62 QRL5X 542 3R 62:: 93S6K23T2L NX SRRL Q;53 Z242
T2::R4:&
UMJy ¢ q_g PR93Q:r& U453:65Q2 Q;2 SR66RZ938 Q2VQ 930QR

P4RO24N:( :5X938: 53L 9L9RW:&
+ > < & e -/
= ( .o

&



? &
A = /
=&
G < (. (
- &
o I < 0 -0&
< - (o

TASK 1 (14 points). Fill in the blanks in the sentences with the words
given below? making necessary changes.

88&&88&8&EE& &S EREEE DERRER &KL L& EEERREM2T5K:2 9Q 9: 3R(
&&EERAZKELERQ2L 79Q); T;2WOT56:&
/

& ~2RP62 ;;RK6L BIZ&&SRIMEE: 82Q ABIR.EREREEEERERLK &S
Q293:& mMkI ~7j~z7 “jkju 17U &&&E&E&EEELESLES

& J;2 Z5: &&&&EBREZEE2:Q5KA53Q N2T5KE&EXK&EER BRI
&&&E&LRBRABE62:( 3RQ T5332L R32:&

& mM53X T;96L423%8&&EBUDERE 8&EEEUERRERITE62 RSQ23
L& &ELRRBRQEQKL2: RS Q:2 T:96L423&

TASK 2(13 points). Explain in English

r 8K6P LRZ3} er :Q9T[ QR}

_r Q9L2 RO24} Er 23LKP}

ar LR Z9Q;RKQ} ar N596 :RW2NRLX RKQ}

br PR69:; RSS} 6rRKQ RS WX 6258K2}

Dr N2 RN:2::2L Z29Q;} r :PK4 RS Q;2 WRW23Q}
cr W9V 29Q;} ar N2 566 RKQ RS :RW2Q);
Cr Q5[2 93}
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1)
2)

4)
5)

+ 60# # T)#

absorb; 6) inequitable;

contaminate; 7) excessive;

nourish; 8) resourceful;

ingenuity’; 9) edible.
moderation;
% # % #$ A
%t % % 1)$ $ " &
% " 1)

a) The drive-in appealed to this love for the car because people
could have a relaxing meal without leaving their cars: they
would park their cars in the dnve-in spaces, and the waitresses
would come to serve them.

b) There were thereby able to serve good food at moderate prices
to a public who had formerly eaten nearly all their meals at
home.

c) Whereas the diner had appealed to a public absorbed to people
who loved the car.

d) Like the railroad cars, they were built out of mass-produced
materials and were the ultimate in efficiency and modem tech-
nology.

e) When the pace of life became faster, even the drive-in restau-
rant wasn't fast enough for the American life style.

f) The dinners remained popular throughout the 50s until they
were replaced by another innovation, the dnve-in restaurant.

g) The ingenuity of the designers led them to build the dinners to
resemble railroad cars at the time when tram travel was very
popular; the public associated them with the speed, mobility,
and efficiency ofthe railroad.

h) This allowed the customer to eat a meal while continuing to
drive.

i) The first fast-food restaurant was roadside diner, which was
introduced late in the 19thcentury.

J) The drive-ins were eventually replaced by drive-through restau-

rants that offered food that could be taken out of the restaurant
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53L 25Q23 93 Q;2 T54&
[r x5:Q SRRL 9: 5 PARW9323Q P54Q RS MW249T53 69S2 N2T
TR3023923Q 53L 9Q S9Q: 93QR Q:2 WRL2W 69S2 :QX62&

B#0 ) # 1) # #$)
# # #) 7>  B#?

+ 60# # T)# -
# %
& IRK T533RQ 25Q Q;2 T5[2 53L 25Q 9Q&
_& YRP2 9: 5 8RRL N425[S5:Q( NKQ 5 N5L :KPP24&
a& 7024X TRR[P459:2: ;9: RZ3 N4RQ;&
b& M Z5QT;2L PRQ 32024 NR96:&
D& 1Qh 3R K:2 T4X938 RO24 :P96Q WI6[&
c& UR PKQ 566 R32$: 288: 93 R32 N5:[2Q&
C& mX TKP RS Q25&
e& UR [22P Q:2 PRQ NR96938&
E& UR ;502 QRR WKT; 93 R32$: P65Q28&
g&JW566 N224&
. 5) #9%0 % % "$
& 'R XRK WIBIR&&E&&E&&&EET; 5 6R38 Z5X QR ZR4[ 2024X L5Xi
_& MW3 6RBREEEEEEDRE 12 ;5QRE&EEELEELELES
a& 1T53$Q :Q53L PRRRER&&SEREZ;5Q QR LR Z;23 I$W L490938&
b& 1LR3$Q 69[2 Q:5Q :RK:2& | ZREBI&FREXE. SFREIE:
D& | 024X WKT; 2 RBRE&GEEEBBR T65::9T56 WK:9T&
c& Y2 QARBLEEZEEERR :26SNKQ ;2 Z5:3$Q Q566 23RK8;&
C& 1;5Q LR XRK 93 ZXR&&&EB/REQ Q;9: PARNG2Wi
e& 1;23 :;2 :5Z Z;5Q ;5L ;5PP232L( :;2 N2853&88&&&&EEEEE
BRKL6X&
E& URW ;26P2L ;9: WR&RRE&&&LRE & 93324 425 X&
g&U;R:2 1:94Q: 32 BIR&&&EREBAKQ XRK LR3$Q 322 &&E&ESE&SE
9Q 3RZ&
4 ' 9%# ! " # )
‘01 % %0 1) % 1
{K:Q N2T5K:2 |1 69[2 N4RZ3 49T2( N253: 53L S42:; 0282Q5N62:&

2VP2TQ WX T:96L423 QR 25Q Q:9: 0:256Q; SRRLO& | 5W 865L QR



Q9R356 W256: RS W25Q 53L PRQ5QR2: SR4 Q;2W& | 42566X T5:
Z9Q; Q;2 [9L: N2T5K:2 WR:Q 5LK6Q: 542 3RQ T542SK6 5NRKQ 2
U;2 RQ;24 398;Q( WX Z9S2 53L | Z23Q QR 5 P54QX Z;242 Q;242 Z-
L493[ NKQ 024X$ 69Q0Q62 SR4 K: QR 25Q& U;2X :2402L ;RL LRS: !
| T533RQ 25Q ;RQ LR8:( Z29Q; 566 Q;R:2 P42:2405Q902:( 53L ;5V
S9662L Z9Q; T;2W9IT56: R Q;5Q Q;2X 6RR[ 8RRL& w2:9L2: Q;2 W.
:K854 S9662L TRR[92: 53L T5[2( 53L( RS TRK4:2( T;9P:&

U2449N62| | LR3$Q Z53Q Q;2 ZR46L QR T;5382 N2T5K:2 R
Q;93[ Q;5Q P2RP62 :;RK6L 42569:2 Q;50Q Q;242 542 560Q2435Q902
U;2X 56Z5X: Q266 W2 Q;5Q | PARN5N6X LR3$Q 82Q WX 2::23Q9¢
1 S226 N2QQ24 Q;53 2024 53L | 5W :K42 Q;5Q 9Q 9: N2T5K:2 | 5V
TRK6L 42566X 69[2 QR :22 WR42 Q26209:9R3 5L024Q9:2W23Q:
N232S9Q: RS 8RRL( ;256Q;X( 35QK456 SRRL&

TEST 1M
TASK 1 (13 points). Guess the meaning from the explanation:
r :Z566RZ gSRRL R4 L493|r Er Z;5Q XRK S93566X ;502
fKOT[6X} L2T9L2 QR ;502}
_r ;26P :RW2NRLX :K40902 5 grQR ;26P :RW2NRLX Z;23
;R4Q P249RL RS Q9W?2} N2 9: 93 Q4RKNG62}
ar 6902( :K40902 3RQ ;50938} JRW2Q;938 XRK 542 3RQ
br S939:; 25QW8 TRWP62Q26X} 5TTK:QRW2L QR}
Dr Q;93[ 5NRKQ :RW2Q;938 566 _I5L2T9:9R3 QR LR :RW2/
Q;2 QoW2} Q;938 Q;5Q ;5:3%Q N223
cr TRWN932} T542SK66X P6532L}
Cr TR3:KW2} ar3RQ QR ;502 53X WR42
er TR3Q93K2 QR ZR4[ ;54L 5Q} ‘RW2Q;938&
TASK 2 (10 points). Give English equivalents to the following words:
r- } cr - }
or = } Cr }
ar -< '} er , }
br } Er }
Dr - } gr o &
TASK 3 (10 points). Give English equivalents to the following words:
r } o> o}
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3)
4)
5)

6)

*

SIENEAEN

~N o

Ok WD

8.
9.

XapyoBa LiHHICTb; 7) KyniHapHWiA peuenT;
cTpaxpgartu Big cnparu; 8) MONOYHI NPOAYKTHU;
3aMOBJIeHHA (cTONy B 9) npunpaenATK;
pecTtopaHi); 10)KoHAMTEPCHKA.
ICTW He BAOMA,;
# # " % -
Bcynepey 3aranbHONPURHATIA Touli 30py, TensTUHa He €
TpaauLUinHOK CTpaBOO GpMTaHLIB.
BoHV HagaloTb mepesary AVUMHI.
Hali6inbw nonynspHa 3ayaTuHa Ta ONEHMHa.
Hikomy He nogobaeTbCcs Xaxnmea Ka.
A noxmypi Kafe Ta pecTopaHu HiKO/IM He NPUBEPHYTL yBary
BigBigyBauiB.
Bce noBUHHO 6yTK 034061€HE 3i CMakoMm.
DKy cnig nogaBatu rapayoto i nigrpumysaTu i Tennow Ha
CTONi 3a 4ONOMOrO CBIYOK.
CaMe Lie | € YNCTO KMTaCbKUM aTpUbyTOM.
+ - 7) # 60# # &
#
Of4uH nupir aBidi He TaATb.
Ko)Ha BOpOHa CBOE MHi3f0 XBaNNUTb.
Hagis — rapHuii CHigaHOK, afne noraHa Bevepsl.
Konu uekaell, yac TArHeTbLCH A4OBrO.
Cni3bMu Topro He 3apaguLu.
CDE FGHIJI

KHLIMINOPM HQRM

PusnkyBatu BCiM, WO Maew.
MpofoBXyBaTW HanoiernMBo npawoBaTu.

10. MaTun HagTo 6araTo po6oTw.

L

2..

% #1
My dinner usually consists....... three courses.

........ the first course | usually take either cabbage or mushroom

soup.
Will you put....... plates, knives, spoons and forks?
My brother prefers coffee....... tea.
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D& U:2 73869:: 542 024X P54 QERCHAELZRLX 25Q8&
c& Y26P XRKA&HFA&H[2& | Q:93[ 9Q 9: 024X Q5:QX&
C& m5X | Q4RKNGREZRGRE2 RS N4RZ3 N425Li
e& “9T[ Q425Q2I8KR&ERREE&
E& ]125[ Q25 9: 3 REAREZEFD:Q2&
g&m5X | RS SPURERILE3RQ:24 TKP RS Q25i
Y502 XRK 56425LX Z5: @R&&E&ESE
_&U;2X RSQ23 LARR&E&&E&ES
a Y2 QRR[ K&&EB2&&HS2 QR ;502 6K3T:&
b&]:5Q 2966 XRK QBRRBZ&RTR3L TRK4:2i
D&ISW SRBRELREE) T;9T[23& [ MEKSEREPA2S24 SEEEEE
T;9T[23&

B#0 ) # 1) # # #&
) ) Wo# )
JIUSMUIjk& MQ Q;2 42:Q5K453Q Q;2 Z59Q24 RSS24: XRK 5 Z¢
RS L9:;2:& MSQ24 T;RR:938 XRK4 W256 S4RW Q;2 W23K XF
R4L24&

) i * +
it #,

4 9% # | " # )
01 % %0 1) % 1

mR:Q MW249T53: 542 93Q4RLKT2L QR \K3[ SRRL Z;23 Q;2X
T:96L423& {K3[ SRRL 9: RSQ23 35W2L 93 5 Z5X Q:5Q 2966 5QC
5QQ23Q9R3& j32 ;RK4 RS T:96L423%: Q26209:9R3 P4R845WWS
W53X 5: _g TRWW24T956; SR4 ;98:6X :Z22Q232L 53L P4RT2::2L
Q:5Q 5QQ45TQ XRK38 25Q24:& IRK38 T;96L423 Q:242NX 62543 (
:722Q32::( 53L T;:RTR65Q2 5: SK3L5W23Q56 TRWPR323Q: RS 5 3F
P5423Q: Z53Q QR 23SR4T2 L92Q54X 4K62: 93 Q:294 ;RW2:( Q;2X
Q;294 T;96L423 S4RW Q:2 93S6K23T2: RS Q;2:2 5L024Q9:2W23(
TR3093T2 Q:2 T;:96L423 QR N2 :262TQ902 5NRKQ Q:2 SRRL Q:2X



TASK 1 (10 points). Listening Comprehension. Listen to the passage.
The passage will be spoken just one time. Then, on your answer

sheet, read the statements in you test paper and put a tick 0 if
each statement is True or False.

U;2 SRRL Z2 25Q :22W: QR ;502 P4RSRK3L 2SS2TQ: R3 RK:
M6Q;RKS8; :T923T2 ;5: W5L2 23R4WRK: :Q2P: 93 W5[938 SRRL WR4
25Q( 9Q ;5:( 5Q Q;2 :5W2 QK32( W5L2 W53X SRRL: K3S9Q QR 25(
:254T; ;5: ;RZ3 Q;5Q P24;5P: 298;0Q0X P24T23Q RS 566 ;KW53 96632.
4265Q2L QR L92Q 53L SR4QX P24T23Q RS T53T24 9: 4265Q2L QR
2:P2T79566X T53T24 RS Q;2 TR6RK4& '9S5S2423Q TK6QK42: 542 V
TR3Q45TQ T240Q593 96632::2: N2T5K:2 RS Q;2 SRRL Q;5Q 9: T;5/
Q;2:2 TK6QK42:& U;5Q SRRL 9: 42650Q2L QR 96632:: 93 3RQ 5 327 |
EbD( 8R0O243W23Q 42:254T;24: 42569d2L Q;5Q 39Q45Q2: 53L 39C
WR36X K:2L QR P42:2402 TR6RK4 93 W25Q:( 53L RQ;24 SRRL 5LL9C
T53T24& 12Q( Q;2:2 T54T93R8239T 5LL9Q902: 42W593 93 RK4 SRR
TRW2: WR42 L9SS9TK6Q 566 Q;2 Q9W2 QR [3RZ Z;9T; Q;938: R3 Q;2
65N26: RS P4RT2::2L SRRL 542 ;26PSK6 R4 ;54WSK6& U;2 5LL9Q9C
25Q 542 3RQ 566 :R L942TQ& x54W24: RSQ23 8902 P239T96693 Qf
Q4X( 53L N2T5K:2 RS Q;9:( P239T96693 ;5: N223 SRK3L 93 Q;2 W96
TRZ:& JRW2Q9W2: :9W9654 L4K8: 542 5L.W939:0242L QR 539WE
W2L9T56 PK4PR:2:( NKQ SR4 S9353T956 425:R3:& U;2 S54W24:
Q4X938 QR S50QQ23 Q;2 539W56: 93 R4L24 QR RNQ593 5 ;98;24 P4
[2Q& M6Q;RKS8; Q;2 xRRL 53L "4K8 MLW939:Q45Q9R3 gx Mr ;5: Q/
P25Q2L6X QR TR3Q4R6 Q;2:2 PART2LK42:( Q;2 P45TQ9T2: TR3Q93K

True False

& U;2 SRRL P2RP62 TR3:KW2 LR2:3hQ 93S6K23TZ
;2560;&

_& w2T5K:2 RS :T923T2( L9:25:2 T5K:2L NX TR3Q5W!
SRRL ;5: N223 245L9T5Q2L&

a& M: 5 42:K6Q RS :T923Q9S9T 93023Q9R3( :RW2 F
:54WSK6 :KN:Q53T2: ;502 N223 5LL2L QR Q;2 SRRL

b& k9Q45Q2: 542 K:2L QR P42:2402 Q;2 TR6RK4 RS\

D& t54T93R8239T :KN:Q53T2 9: T53T24 T5K:938&

26



True False

6. FDA means Final Difficult Analysis.

7. Drugs are always given to animals for medical rea-
sons.

8. Researchers have known about the potential hazards
of food additives for over forty years.

9. Food may cause forty percent of cancer in the world.

10. Some of the additives in our food are added to the

food itself and some are given to the living animals.

TASK 2 (20 points). Insert the words given below into the text.

One goal ofU.S. (1).ccveeneee seems to be to make their children
02 P for themselves; to achieve this objective, both parents usu-
ally (3)cveennen. outside the home, and they (4)............... the children
with a (5).ccccocvviene soon the children learn to be responsible; they
(S) — their own clothes, (7)............... themselves when they are
hungry, and go to (8) ............... when they are tired. Consequently, a
() Fm— develops between the parents and the children, and every-
one in the family begins to lead (10)............... lives. (11).ccccvvcnnene goal
of U.S. parents is to make their children (12)................. In order to do
this, parents (13)......c........ even their very young children to work
(14).ciine the home. Sometimes 7-year-old children (15)................
money by (16).............. newspapers or (17).....cc....... snow. By the
time the children are in high school, most of them are working many
(18)..cvennee every week. They are making a lot of money, and soon
they are (19)............... independent. Therefore, they make many of their

TASK 3 (10 points). Put the verbs in parentheses in the correct form.
A policeman is talking about his job.

1 Every policeman ........... given special training for the job (is /
are).

2. Eachday.......... different from the one before (is/ are).

3. A number of police officers here ........... with dogs (works /
work).
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phrases and use the phrases in the sentences below,
a good idea; a big house; a healthy climate; a young man; a good job

& t569SR4395 T24Q59354&;&& & & &E&E& & QEBRIRZAREIRE & & && &
_& hW 82QQ938 QRR R6L& U;9: 9&BENE S&EK. & & &&&EEEEEE!
a& ;23 Q;2 T;96L423 82Q 5 N9Q R6L24( Z2h66 4256

b& Thw K42 9Q ZR3hQ ZR4[& t53hQ XRK TRW2 K
?

D& ~24;5P: Z2 TRK6L 5SSR4L 9Q 9S | TRK6L 82 Q &&&&&&&&&
TASK 8 (5 points). Match these sentences:
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TASK 9 (10 points). Explain the following idioms in English:
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TASK 10 (10 points). Listen to the following words and spell them.
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TASK 11 (10 points). Arrange the sentences in the correct order ac-

cording to the paragraph structure.
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one hundred feet in front of you.

5. Immediately after that start to pull in the string to help the kite
rise into the sky.

6. Find the field or other open space without trees, wires, or build-
ings that could catch the kite and stand with your back to the
wind.

7. You actually begin to fly the kite.

Then wait for a strong gust or wind.

9. Then you can enjoy running with the kite and controlling it for as
long as you can.

10. When the kite has risen one hundred feet or more, it will be stable.

©
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2 4

1 TAXES IN THE USA (15 points).

2.

3.

CORRECT THE MISTAKES (2 points).
My parents are married for thirty years.

PUT IN THE CORRECT FORM'(1 point).
| find that............... helps me to relax. /0 /
| paint quite often.

COMPLETE THE SENTENCE. PUT IN A/AN OR SOME (1
point): 1I’'m here for two nights, and 1’'m looking for
accommodation.

WRITE THE PLURAL FORM OF THE NOUN (1 point):

wolf.

FORM THE COMPARATIVE and SUPERLATIVE DE-

GREES OF THE GIVEN ADJECTIVE and ADVERB (2

points): common; high.

. EXPLAIN IN ENGLISH (3 points): to be incompatible with.

Card 6

. IN THE STORE (dialogue) (15 points).
. CORRECT THE MISTAKES (2 points).

Carlo lives in Rome since three years.

.PUT IN THE CORRECT FORM (1 point).

I heard............... fall from the tree. /1 /

COMPLETE THE SENTENCE. PUT IN A/AN OR SOME (1
point): The people who camped in the field have left
................ rubbish.

WRITE THE PLURAL FORM OF THE NOUN (1 point): po-

tato.

FORM THE COMPARATIVE and SUPERLATIVE DE-

GREES OF THE GIVEN ADJECTIVE and ADVERB (2

points): cheap; well.

. EXPLAIN IN ENGLISH (3 points): to look out for number one.
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2 (
1 APPEARANCE, MOOD and CHARACTER OF A PERSON
WHO IS VERY SPECIAL FOR YOU (15 points).
2. CORRECT THE MISTAKES (2 points).
The Rolling Stones rock group are playing together for over
twenty years.
3. PUT IN THE CORRECT FORM (1 point).
............... woke me up in the night. 2 *1
COMPLETE THE SENTENCE. PUT IN A/AN OR SOME (1

point): The second-hand shop had............... sofa.
WRITE THE PLURAL FORM OF THE NOUN (1 point):
chief.

4 FORM THE COMPARATIVE and SUPERLATIVE DE-

GREES OF THE GIVEN ADJECTIVE and ADVERB (2
points): pleasant; near.

5. EXPLAIN IN ENGLISH (3 points): to be hard up.
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